
Subtracting Decimals

Go to onlinemathlearning.com for more worksheets

341.84 – 21.92 =  

50.41 – 4.25 = 

41.84 – 0.9 =   

60.91 – 2.85 = 

74.1 – 3.91 =

5.18 – 0.09 = 

361.31 – 2.84 =

1.8 – 0.9 =  

Write the problem in vertical form and find the difference.



Subtracting Decimals

Go to onlinemathlearning.com for more worksheets

341.84 – 21.92 = 359.92  

50.41 – 4.25 = 46.16 

41.84 – 0.9 = 40.94   

60.91 – 2.85 = 58.06 

74.1 – 3.91 = 70.19

5.18 – 0.09 = 5.09 

361.31 – 2.84 = 358.47

1.8 – 0.9 = 0.9  

Write the problem in vertical form and find the difference.


